
 

 
PADRÃO DE RESPOSTAS 

 

QUESTÃO 01 
 

(A) rendimento (η) = 
m

u

p
p

 = 0,5 

 

Pu = W
t

mgh
t

W 310
100

2010500
=

××
==  

 

Pm =
η

u
P

 = 2 × 103 W = 2,67 HP 

 

(B) m = 500 Kg 

P = 
A

mg
 = 

2
10500 × = 2,5  ××  103 N/m2 

 

QUESTÃO 02 
 

(A) Q = Q1 + Q2 = mc∆T + mL = 10 kcal 
 

(B) 
2

22

1

11

T
VP

T
VP

=  

T1 = 273 − 3 = 270 K 

T2 = 273 − 19 = 254 K 

V1 = V2     ⇒ P2 = 
1

21

T

TP
 = 

270
2541×  = 0,94 atm 

 

QUESTÃO 03 
 

(A) Q = mc∆T 

P = 104 
min
cal  

t = 
P

Tmc∆  = 
410

501200 ××
 = 1 min 

 

(B) λ = 
f
c  = 

9

8

102,45

013

×

×
 = 0,12 m 
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QUESTÃO 04 
 

(A) P == ghµ  

 105 ==  h ××  103 ××  10 

  h ==  10 m 
 

(B) Vazão == 
1,0

10
 ==  10 ll/min 

 

QUESTÃO 05 
 

(A) E = mgh 

E = 3 × 10 × 0,6 = 18 J 

 

(B) 2
fv  = 2

0v  + 2 × a × h 

vf = 0,6102 ××  = 12 m/s 

 

QUESTÃO 06 
 

(A) λcor = 
2

610)(535 +
 = 572,5 nm 

 

 f = 
λ
v

 

 

 f = 
9

8

10572,5

103
−×

×
 = 5,24 ×× 10

14
 Hz 

 

(B) 1,6 × 10−16 = 
2
1

 × me × v2 

 

v = 31

16

109,1

101,62
−

−

×

××
 = 1,88 × 107 m/s 

 

F = evB = 3 ×× 10−−14 N 
 

QUESTÃO 07 
 

(A) E = 
2

1
 CV

2
 

 V = 1,5 + 1,5 = 3 V 

Emax = 
2

1
 × 32 × 15 × 10−6 = 6,75 ×× 10−−5  J 

(B) Imax = 
6
3

 = 0,5 A 
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QUESTÃO 08 
 

(A) Fcent == m × acent ==  m (
R
v 2

) = m × ω2 × R 

Fatrito == µ × N == µ × Fcent 

Fatrito ==  m × g 

ω ==
R

g
µ

  ==  
0,250,5

10

×
  

ω ==  8,9 rad/s 
 

(B) ω ==  ω0 + αt 

 3 rot/s ==  3 × 2π rad/s 

 3 × 2π ==  2 × ∆t 

 ∆t  ==  3π s 

 Ω ==  
2
1 × α × t2 ==  

2
1 × 2 × (3π)2 == 9π2 

 nrot == π

π
2

29
 ==  4,5ππ 

 

QUESTÃO 09 

 

(A) 
x
x

H
d

2
=  

H = 2d = 140 cm 
 

(B) D ==   2d − (d + d − 20 − 20) ==  40 cm 

 

QUESTÃO 10 
 

(A) 1.450 − 1.230 = 220 W = 0,22 kW 

0,22 × 10 = 2,2 kWh 

economia = 0,33 × 2,2 = R$ 0,73 
 

(B) 
1.230
1.450

 = 1,18 vezes 
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